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One litre of milk was sold for sh 25. The vendor got
2 tota! of sh 2525 for the aale of milk during the five
dayuHawmnymmlitmolmilkdidmevmdcr
sell on Thursday than on Tuesday?

ATS
B 2
C. 47
D. 17

18, Sixtcen workers can dig 8 field in 12 days. How
mmymemtmmmnﬁcdwumdom
work in B days?

A 0
B. 24
cC 8
D. 10

19. The top of & ladder, 26 metres long, leans oo a
vu'dullwnn.'fhchddcrtpud:ﬂm:mllulheim
of 10 metres. What is the horizontal distance from

‘Ease o s el oo sl cu

School fees for two children in the same achool was
3h9400 and shil800. The father bought one
money ordet 1o pay the total amount of fees. How
much more would he have spent had be bought two
sanarate manev orders [or the fees?
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A 22 2
BB
2. The table below shows Sagana-Nanyuki train fares C 25
for adults, b. 3
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The fare for childrep is half that of adults. Taipei

and his two children travelled from Nanyuki to

Sagana. On their return journey they first paid the

fare to Karatina. They later paid the farc to

Nanyuki. How much mors moncy did they spend on

travel for their return journey?

A. sh 150

B. sh 140

C. sh 1§

D. sh 10 188
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28. A motorist travelling at an average speed of 84 km/h

23. e baomientstetaigiseetiGsilicn, took 2 hours and 30 minutes to'travel from town M
= Scm, EF = 15 cm and HE = 3 cm. Line EF is
1o 0ic el aeale =dughEHG= 9 to town N. She then tock 3 hours and 20 minutes to
parallel FEH 5 travel back to town M. What was the average speed
%, i G i for the whole journcy?
G A. 36 km/h
B. 63 kmh
3 C. 73} kmm
3cm o D. 72kma

2, lnxhcﬁmbclow.lmcl’QupnnﬂdlolmeSR
L (5 F udQ‘l‘ueqnllo'fR.AngleQﬂ' 31° and angle
— :

What is the area of the figure?
A 78 am?
B. 39 cm!
C. 65cem?
D. 75 cm?

24, A rectangular container 45 cm long and 25 cm wide
was fall of water. After removing 225 litres of the
water, the level of water became 4 cm high. What

Z_n 1?;: ki 2 What i:.lhe size of angle PQR?
B.- 20cm A 46
C. Técm B. 88

C. 103°

D. 6cm D, 92
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25.

26.

Nekesa has p pencils. Rhoda has 3 more pencils
than Nekesa Karani has two pencils less than the
total number that Nekesa 2nd Rhoda have. How
many pencils do they have altogether?

A 8p-2

B. 4p+4

C 2p+l

D. 2p+4

Cherono spent sh 8100 on food in May. In the
month of June she spent 10% less on food than in
May. How much money did she spend on foed in
June?

A. sh 810

B. sh729

C. sh9000

D. sh8910

Amina shared money among her three children. The

first got 4 while the second got + of the money.
Thllhudnldwhlmmd.mwum
with sh 1500. How much money had she before it
was shared?
A. sh3000
B. sh5700
C. sh7200
D. sh 3600

30. The charges for sending a telegram were as follows:

The first 10 words or lzss sh 15.

Any additional words sh 1-50 each.

Abbreviations and punctuation marks ‘are counted
as words.

A tax of 20% is charged on the amount.

The total amount to be paid is rounded off to the
nearest 50 cents. What was the cost of sending ‘the
following telegram?

JOHN MLAMA P.0. BOX 360 NYERI GOING TO
KISUMU AFTER THE EXAMINATION KOIGI

A sh25
B. sh24
C. sh 2880
D. sh 2900
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31, Below is a travel graph showing the journcy of a
motorist travelling from town L to town K aod
hck.nnﬁvhlto{lcynﬁslmvdmmtml,to

town K.
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Town L D.m .00 wift
‘Time in hours

10.00 am

3.

35.

A square of side 2 cm is cut from each-corner of 3
rectangular paper measuring 8 cm by 12 cm. Which
one of the following statements is true?

A. The perimeter of the remaining paper is greater
than the perimeter of the rectangular paper by
16 cm.

B. The perimeter of the remaining paper is less than
the perimeter of the rectangular paper by 16 cm.

C. The perimeter of the rectangular paper is
reduced by 8 cm.

D. The perimeter of the remaining paper is equal to
the, perimeter of the rectangulas paper.

A salesman is paid a salary of sh 1 500 per month
plnslwmmn{l%‘/-cnﬂwukofmdl
above sh 10000. In one month he was paid a total
of sh 1800. How much was the sale of the goods?
A sh 300
B. sh 12000
C. sh 22000
D. sh 82000

In a group of 126 spectators the ratio of men to
women was 3:4. What is the new ratio if 2 more men
and 8 more women joined the group of spectators?
A TI0
B. s12
C. 1316
D. 4

‘,~A| QB ! gispaan o pec Sl oo ire el b e
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How far from town L was e Cycist Wied H% et
the motorist travelling back to town L?

A. 40km

B. 32km

C. 20km

D. 8km

What is the value of §(2x+4y?)+3p-8 when
]=6.x=2pnndy= zx—l‘!

A 130

B. 633

c. 433}

b 3} :

A machine packs 250 two-kilogram packets of sugar
while another packs 375 one-kilogram packets each
day. B -'manymnwofmprdtopthﬂ.dothe
two machines pack in five days?

A. 0875

B. 3125

C. 4375

D. 625

R~ il e o Ry oo Rl Thaalht S g IR & T
Tuesday, the following day, the clock showed
8.45 pm. when the correct time was 8.30 p.m.' How
‘many minutes was the clock gaining in every 24 hours?”
A. 10 minutes
B. 74 mioutes

- C. 15 minutes
D. 30 minutes

38, The base of 2 closed cuboid meanires 4 cm by § cm
and the height is 7 cm. The-base and the top parts of
the cuboid are painted. What is the total surface
arca of the parts which are not painted?

A. 166 cm?
B. 126em?
C. 63em?
D. 40em?

39, During an election the winning candidate got 0-425
of the votes cast while the other two candidates got
039 and 0183 respectively. There were 48 spoilt
voles, How many votes did the winning candidate -
gt
A. 24000
B. 10200
€ 9360
D. 4392
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40. A motorist started on a journey of 250 km at

6.30. a.m., travelling at an average speed of
100 knv/h. After travelling for 150 km, the car got a
puncture and it took him 30 minutes to change the
wheel. He then continued with the rest of the
journey at-an average speed of 80 km/h. At what
time did he reach his destination?

A. 9.15am.

B. 9.45am.

C. 930 am.

D. 9.55am,

41. Four children bought 53 oranges altogether. Nekoye

boughit x oranges and Kamau bought 9 oranges
more than Nekoye. Fatuma bought twice s+ many
oranges a5 Nekoye. Atieno bought as manv oranges
as both Kamau and Fatuma bought. Waic ) or= of
the following equations can be used ic uno the
number of oranges Nekoye bought?

A S5x+22=53

B. 5x+18=353

C. 7x+ 9=53

D. 7x+18=53

42, Waitherz borrowed sh 10000 for a period of two

years. She was charged compound interest at the
rate of 15% per year. How much interest did she pay

A. sh1500
B ok 20D

44. The cash price of a tractor is 1.8 million shillings.

Rotich bought it on hire purchase terms. The total
zmaunlh:puidw:s:i(f/-mmﬂmt}gmhprice.
He paid a deposit of sh 660 000 and the remainder
in 24 cqual monthly instalments. How much was
cach instalment?

A. sh 70000

B. sh 97500

C. sh 47500

D. sh 25000

45. Omala and Mwite had packets of tea to be packed

into cartons. Each carton holds 46 packets. Omala
packed 63 cartons and remained with 24 packets
:yghmmﬂwm 54 cartons and remained with
many more ets of
Omala than Mwite? o vt
A 419
B, 44
C. 409
D. 5425

46. The figure shown befow, is formed by two right-
angled triangles ABD and BCD.

C
P
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C. sh3225
D. sn1725

24cm

B.mﬁmmhdwwulubkmtﬂudcupor
a rectangle and four semi<ircles. The rectangle
measures 14 cm by 7 cm.

15cm

A 20cm

‘What is the arez of the triangle BCD?
A. 300 cm?
B. 180 cm?
C. %4cm?
D. 150 em?

vnnunaum:ommmraiumw(‘ra||nu--3.)‘)3
A 1924 o
B. %8 cm?

€. 290} o

D. 156} em?
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47. The population of  village is represented by the pie
chart below.

1 there were 300 girls, how many more boys than
men were there?

A B0

B. 100

C. 180

D. 5

48, Complcte the construction of a paraliclogram
PQRS, where line PR is a diagonal.

Which onc of the shapes below would fit in the
dotted space in the patiern above?

NN
FAVAVAVAS
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‘What is the length of line QS?

A 6Tem

B. T0em

C. 38em

D. %lem

. Which is the correet order of writing the fractions
1,3,4, a0 3 from the largest 10 the smallest?

WAVAVAVL, AVAY
WAVAVA aY/a
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KCPE 2005

MATHEMATICS

1. Which one of the following is 50205082 in words?

Fifty million two hundred and fity thousand
and eighty two.

Fifty million twenty five thousand and eighty
two.

Fifty million two hundred thousand five
hundred and cighty two.

Fifty million two hundred and five thousand
and cighfy two.

2. What is the'place value of the digit 6 in the numbes
26490537

A
B.
C.
D.

Hundred thousands
Millions

Six hundred thousand
Ten thousands

3. What is the number 29:34046 rounded off to the
nearest thousandth?

A
B.
C.
D.

293
2934
29340
29-341

4. What is the smallest number that can be divided by
12, 18 and 27 without a remainder?

A

8. Katva bought the following items from a kiosk:

2 kg of rice for sh 152
1§ kg of meat @ sh 160
2 loaves of bread @ sh 23

What balance did he receive if he paid for the items
using a sh 1000 note? .

A. sh438

B. sh 562

C. sh 410

D. sh 665

"9, In the figure below, RPQ is a triangle. Point O is

inside the triangle. Join RO, PO and QO.
R

Se
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5.

a8

BE2 gow

'5‘5"1 “
g

8sig

pkeeper bought 30 eggs. He then sold each egg
making a profit of 20%. How much had he

oWy
Y-y

D. 216

‘What is the valuc of 8 + 0-02 + 1:35 x 0-47
A. 400-54
B. 4054
C. 160-54
D. 4054

750. Halima
given & 10%
for the five

The marked price of a blousc was sh
boughi five such blouscs after being
discount. How much did e = .y
blouses?

A. sh 3675

B. sh 675

C. sh3375

D. sh 3700

P

10.

11

What.is the size of the obtuse angle POQ?
A 54
B. 114°
C 12
D. 126*

The ages, in years, of 10 pupils in a class are: 16, 18,
15, 14, 17,-16, 14, 13, 19 and 14. What is the median
age of the pupils?

A 165

B. 156

C 4

D. 155

Which one of the following statements is true about
all quadrilaterals? <

A. Opposite sides are equal,

B. Diagonals bisect at right angles.

C. Sum of interior angles is 360°,

D. Angles are right angles.
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